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Question Number : 1 Question Id : 43417823101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development proceeds in the direction of the longitudinal axis. This principle of development is

called principle of
Options :

1. Proximodistal
2. Interrelation

3. Cephalocaudal

4. Continuity

Question Number : 1 Question Id : 43417823101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 43417823102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Contemporary theorists consider ‘Childhood’
Options :

1. as a social construction

2. as a scared period in all cultures

3. as a period of great stress and anxiety

4. as a period of development till the age of puberty.

Question Number : 2 Question Id : 43417823102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 43417823103 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Progressive Education:

Options :

1. respects diversity

2. ignores individual differences

3. uses standardized assessment

4. ability- based fixed grouping promotes

Question Number : 3 Question Id : 43417823103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 43417823104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The basic assumption of child centered pedagogy is that:
Options:

1. the best way to encourage students to learn is through use of rewards and punishment



2. the experiences and perspective of students should be taken into consideration while teaching
3. learning is directed and controlled by the environment.

4. learning needs to be solely centered around textbooks

Question Number : 4 Question Id : 43417823104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 43417823105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

and are secondary agencies of socialisation

Options:

1. School; family

2. Family; mass media
3. Religion; family

4. School; media



Question Number : 5 Question Id : 43417823105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 43417823106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage child develops hypothetical deductive reasoning; and

scientific thinking begins to emerge?
Options:

1. formal operational

2. Sensori-motor

3. Concrepte operational

4. Pre-operational

Question Number : 6 Question Id : 43417823106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 43417823107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are the four factors that influence development according to Jean Piaget?
Options :

1. Maturation, activity, social experience, equilibration

2. Organization, equilibration, adaptation, culture tools

3. Culture, language, social interaction, Per tutoring

4. Positive and negative reinforcement, presentation and removal punishment

Question Number : 7 Question Id : 43417823107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 43417823108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky theory, is the area between the child’s independent
performance and the level of performance that the child could achieve with adult guidance or by

working with a more knowledgeable peer.
Options:

1. Zone of advanced development

2. Zone of significant development

3. Zone of mental development

4. Zone of proximal development

Question Number : 8 Question Id : 43417823108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 43417823109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, is the foundation of all higher cognitive process.
Options :

1. language

2. equilibration

3. adaptation

4. organization

Question Number : 9 Question Id : 43417823109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 43417823110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Carol Gilligan's primary critique of Lawrence Kohlberg's theory of moral development-
Options:

1. is situated in the ‘feminist’ perspective

2. is that his theory is not based on research conducted on children.

3. is that his theory does not propose distinct states of moral development

4. his theory does not make linkages in the cognitive capabilities of children.

Question Number : 10 Question Id : 43417823110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 43417823111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nisha can detect and respond appropriately to the moods of her friends and family members and
wishes to become a Psycho-therapist. Which kind of intelligence she possesses and should further

develop?
Options :

1. Spatial intelligence



2. Interpersonal intelligence
3. Naturalist intelligence

4. Fluid intelligence

Question Number : 11 Question Id : 43417823111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 43417823112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To break gender stereotypes carried by students, a teacher should:
Options:

1. let students carry on with those stereotypes

2. share various examples that challenge those stereotypes

3. make fun of students who express such stereotypes

4. reduce their marks in assessment of academic domain



Question Number : 12 Question Id : 43417823112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 43417823113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children coming from marginalized families are often neglected in a classroom even when they
perform well. Which of the following set of reasons are responsible for such behaviour in a

classroom?

i. Teachers are often prejudiced towards children belonging to marginalized groups.

ii. There is a lack of sensitization among the peers towards diversity and the social context of such

children.

iii. Children from marginalized groups are denied education under the Right to Education Act

20009.
Options :

1. (i), (ii) and (iii)



2. (i) and (iii) only
3. (i) and (ii) only
4. (i) and (iii) only

Question Number : 13 Question Id : 43417823113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 43417823114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per national education policy 2020,the form of assessment in schools should shift from

to

Options :
1. summative, formative

2. formative; summative



3. learning; rote memorization

4. flexible approaches ; rigid standardized testing.

Question Number : 14 Question Id : 43417823114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 43417823115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be helpful to assess critical thinking skills among students.
Options:

1. Multiple choice based Quiz

2. One-word fill in the blanks for definitions

3. Contextualized reflection based Questions

4. Recall based short Questions

Question Number : 15 Question Id : 43417823115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 43417823116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To successfully include students with Dyslexia, which of the following should be avoided?
Options:

1. Multi-sensory pedagogical approches

2. Standardized assessments

3. Individualized goal sets

4. Flexible curriculum

Question Number : 16 Question Id : 43417823116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 43417823117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practices promotes inclusion in the context of children with disabilities?

i. Barrier free access
ii. Assistive devices and appropriate technology- based tools
iii. Choice of regular or special schooling as well as home - based education

iv. Uniform structured curriculum and means of assessment
Options:

1. (i) (i) (iii)

2. (i) (i) (iv)

3. (i) (iii) (iv)

4. (ii) (iii) (iv)

Question Number : 17 Question Id : 43417823117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frefotea & & 1 S T ST 5 aETET 36 20
L ST e U

. HETE T A TR AT IUg S|

i, W A Ty e % wny-ay TE st e w5 ey

iv. TUFEY SEHTES TSI SR TR & aH |

Options :
1. (1), (11), (111)

, (0. (i), (iv)
5. (i), (i), (iv)

4. (i1), (ii1), (iv)

Question Number : 18 Question Id : 43417823118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traits such as divergent thinking, originality in ideas and potential for novel production are

associated with
Options :

1. Creativity

2. Learning Disability
3. Autism

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 43417823118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 43417823119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Inclusive education emphasises upon
Options :

1. equity

2. segregation

3. equality

4. labelling

Question Number : 19 Question Id : 43417823119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 43417823120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning material will benefit inclusion of students with visual
impairment?

Options :

1. hand written notes

2. pictures and diagrams

3. maps and globe

4. audio tapes

Question Number : 20 Question Id : 43417823120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 43417823121 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of a middle school classroom rooted in socio-

constructivist frame?

Options :

1. Encouraging learners to learn from a variety of sources

2. Appreciate asking of questions by the learners

3. Promoting all learners to give identical answers and follow the same method

4. Giving opportunities for group discussion

Question Number : 21 Question Id : 43417823121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 43417823122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following hinders problem- solving skills among students?

Options :



1. Functional fixedness
2. Use of analogies
3. Establishing cause -effect relationships

4. Means end analysis

Question Number : 22 Question Id : 43417823122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 43417823123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following emotion is likely to be experienced by a student, when an activity is valued

by him but he is given very low control to execute that?
Options :

1. Anxiety

2. Boredom

3. Frustration

4. Shame



Question Number : 23 Question Id : 43417823123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 43417823124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): A teacher should not give space to discuss children’s explanations of various

phenomenon.
Reason(R): Children are not capable of developing causal explanation on there are

Choose the correct option.

Options :

1. Both (A) and ( R) are true; and (R) is the correct explanation of (A)
2. Both (A)and (R) are true but (R) is not the correct explanation of(A)
3. (A) Is true but ( R) is false.

4. Both (A) and ( R) are false



Question Number : 24 Question Id : 43417823124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 43417823125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): it is important for a teacher to focus on development of children's metacognitive

capabilities

Reason (R ): When children become aware of their own beliefs and thinking, they become more

capable of regulating their own learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and ( R) are true but (R) is not the correct explanation of (A)

3. (A) is true but (R) is false



4. Both (A) and (R) are false

Question Number : 25 Question Id : 43417823125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 43417823126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students are eager and motivated to learn when teachers:
Options :

1. Put them under stress and pressure to perform well in test.
2. Offer rewards for ‘success’ and punishment for 'failures'

3. Have complete control over the learning process.

4. Engage the learners and make them an integral part of the teaching - learning process



Question Number : 26 Question Id : 43417823126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 43417823127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While facilitating the learning of a new concept, a teacher should;
Options:

1. Ignore previous knowledge of students

2. relate new information with prior understanding of students
3. ignore social- cultural context of students

4, present information in disconnected chunks

Question Number : 27 Question Id : 43417823127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 43417823128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not illustrates a constructivist learning approach?
Options :

1. Multiple interpretations

2. Collaborative learning

3. Learning at individual pare

4. Rote memorization and verbatim recall

Question Number : 28 Question Id : 43417823128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 43417823129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following kind of goal-setting will intrinsically motivate students for learning?
Options:

1. Self -directed

2. Teacher - directed

3. Parent- directed

4. Peer- directed

Question Number : 29 Question Id : 43417823129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 43417823130 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the teaching -learning process, errors analysis is
Options :

1. Irrelevant.

2. relevant only for students.

3. relevant only for teachers.

4. relevant for students as well as teachers.

Question Number : 30 Question Id : 43417823130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
STEATAA - AT WHRAT H, T(E-Ta2mo
Options:

(, ST B

= r~ i Y 3 Y ]
e TaEerat % o o 2

5 A STEATIHT o [oI0 TTHTE 2

Terafel= ofiF ereageRt 2141 % fo7w ot 2

Social Studies or Social Science

SectionId : 434178744
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 4341781344
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 43417823131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are planning a project on 'the first empire of Indian subcontinents'. You would be asking to

find out about?
Options :

1. Gupta Empire

2. Vakataka Empire
3. Kushana Empire

4. Mauryan Empire

Question Number : 31 Question Id : 43417823131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 43417823132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The earliest coins are called punch marked coins because
Options:

1. designs were punched on to the metal coins.

2. coins were punched by a hard tool to give shape.

3. people received a punched seal as receipt after payment.

4. coins were punched for easy storage.

Question Number : 32 Question Id : 43417823132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 43417823133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What was the reason for appointing slaves to high positions during the Delhi Sultanate?

Choose the most appropriate option

Options :

1. They were easy to control and did not have to be paid.
2. They owed their life to the Sultan and their heirs.

3. They were loyal to the Sultan and their heirs.

4. They were trustworthy and dependent on their master.

Question Number : 33 Question Id : 43417823133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 43417823134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How did architectural features of the Diwan-i khas o am gave the idea that the king was a



representative of God?

A. The audience halls were constructed to resemble a mosque

B. The king had to seat on high pedestal depicting that he was above everyone
C. The throne was placed in the direction faced by Muslims at prayer

Choose the correct option.
Options :
1.Aand B
2.Aand C
3.Band C

4. A, BandC

Question Number : 34 Question Id : 43417823134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 43417823135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements A and B and choose the correct option.

A. In the early nineteenth century, when the British began developing a uniform military culture, it

created problems among sepoys.

B. Caste and community feelings were ignored in building a force of professional soldiers.
Options :

1. A and B are true . B is the correct explanation of A

2. A and B are true . B is an incorrect explanation of A

3. Ais true, Bis false

4. Ais false, B is true

Question Number : 35 Question Id : 43417823135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 43417823136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A, B and C on the Ahoms during the 16th to 18th century.

A. They were divided into clans and each clan controlled several villages

B. They had their own tribal gods

C. They had alliances with other tribes like Koch Hajo

D. Land acquisition by the members of the Varna society was restricted by the Ahom kings

Choose the correct option.
Options :

1. Only A and B are true
2.0nly B and C are true
3.0nly Cand D are true

4.0Only A and D are true

Question Number : 36 Question Id : 43417823136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 43417823137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Indigo plantations came up in many parts of North and South America by the

seventeenth centu ry

Reasoning (R): The high demand and competition from Indian indigo led to European producers to

pressurise their governments to ban the import of indigo and look for alternatives.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false.



Question Number : 37 Question Id : 43417823137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 43417823138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following resulted in an open rebellion of tribes against the British?
Options :

1. The Britishers were buying products from middlemen not directly from tribes.

2. The British market and traders were not accepting tribal silk.

3. The British extended their control over all forest and restricted entry of tribal people.

4. The British were paying more attention to the non-tribal areas than the tribal areas.

Question Number : 38 Question Id : 43417823138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

EFI'*TH 9|1 TRUT HATRATEET T ST 3 T @j?rﬂ%“"l?; T 2hT <hIL0T ST

Options :
| IS AT § T Y 5 IeTE TE @ire o, Fertier o Avead § @ied o
,, FATGETTHAT i T U TSR AR ATIRT TR T2 7 2 Ul

. ST ST O e e o fo o A et s e 8 S gt R e

4, T SAITGETET &7 T AU T-FTAATT &7 7 A1k <31 T 72 ]

Question Number : 39 Question Id : 43417823139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ishwar Chandra Vidyasagar used the ancient texts to suggest
Options :

1. end of sati.

2. girls could study.

3. widows could remarry.

4. equality of all castes.

Question Number : 39 Question Id : 43417823139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 43417823140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following communities gained by entry into the British Army and also had a regiment

for itself?
Options :
1. Mahars
2. Ezhvas
3. Madigas

4. Dublas

Question Number : 40 Question Id : 43417823140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 43417823141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is closest to the ideas of EV Ramaswamy (Periyar)?
Options :

1. “One must enter the temple to prove that we are also human beings”.

2."Is the man from pure gold and woman from rust rock or rusted iron?”

3.“There is only one caste, one religion and one god for humankind”.

4. “If you have to free yourself from caste, you have to free yourself from all religion”.

Question Number : 41 Question Id : 43417823141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 43417823142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Consider these statements for growth of Mass Nationalism in India, and choose the correct

option.

(A) Due to huge expenditure in First World War, Government of India imposed heavy tax on

individuals.
(B) Sharp rise in the prices created great difficulties for the common people

(C) After 1917 Russian Revolution, new ideas about peasants and workers struggle and ideas of

socialism circulated widely among Indian nationalists.
Options :

1. Only (A) and (B) are true

2. Only (B) and (C) are true

3. Only (A), and (C) are true

4. All (A), (B) and (C) are true

Question Number : 42 Question Id : 43417823142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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. A BERCENE

Question Number : 43 Question Id : 43417823143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements for First World War on India and choose the correct option.

(A) The war created a demand for industrial goods and caused a decline of import from other

countries
(B) Indian industries expanded during the war.

(C) Business groups faced a huge loss from the war.
Options:

1. Both (A) and (B) are true

2. Both (B) and (C) are true

3. Both (A) and (C) are true

4. Only (A) is true

Question Number : 43 Question Id : 43417823143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W%ﬁa%%ﬂaﬁamcﬁiﬂ'{ (=TT =, Wﬂﬁﬁmﬂi
A. TF % FROT AT IeUTET hi FHT 4T TF A7 AT F FHT A7)
B. WA ¥ g 3 S ST o™ g
C. SATIR-FET i T5 3 FRU 9HT THA 2277

Options :
| AATBEAE



, BaRCTTE

3 AARCHEAE

4 FEF A TI

Question Number : 44 Question Id : 43417823144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The category of 'erstwhile princely states' were those states
A. whose prince agreed to merger with India

B. whose prince agreed to merger with Pakistan

C. which were retained as administrative units until statehood

D. which were retained as European colonies such as Goa and Pondicherry.
Options :

1. A and B are true. B is the correct explanation of A

2.B,Cand D

3.A,CandD

4. A, BandC

Question Number : 44 Question Id : 43417823144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 43417823145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following list of mountains: Alps, Aravali, Appalachians, Himalaya, Ural, Vosges

In this list which one is different from the others?
Options :

1. Aravali

2. Appalachians

3. Ural

4.\Vosges

Question Number : 45 Question Id : 43417823145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 43417823146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Those places east of Greenwich will be ahead of Greenwich mean time.
Reason (R) : As the earth rotates from east to west sun arises early in eastern side

Choose the correct option.

Options :

1. Both (A) and (R) are true, and (R) is the correct explanation of (A)

2. Both (A) and (R) are true, and (R) is not the correct explanation of (A)
3. (A) is true, but (R) is false

4. Both (A) and (R) are false.

Question Number : 46 Question Id : 43417823146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 43417823147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these two statements about Globe
A. The equator represents the zero degree longitude
B. Equator is an imaginary line that divides globe in two equal parts

Choose the correct option.
Options :

1. Ais true and B is false
2. Aisfalse and B is true
3. Both A and B are true

4. Both A and B are false



Question Number : 47 Question Id : 43417823147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 43417823148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which state has shortest length of Tropic of Cancer in India?
Options :

1. Chhattisgarh

2. Rajasthan

3. West Bengal

4. Jharkhand

Question Number : 48 Question Id : 43417823148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 43417823149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements for Monsoon season in India and choose the correct answer
(A). In south west monsoon season the wind blows from mainland to the Bay of Bengal.
(B). In season of retreating monsoon the wind blows from mainland to Bay of Bengal

(C). The southern parts of India receive rainfall in season of retreating monsoon.
Options :

1. (A) and (B) are true

2.(B) and (C) are true

3. (A) and (C) are true

4. (A), (B) and (C) are true

Question Number : 49 Question Id : 43417823149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 43417823150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following rocks have a chance to contain fossils?
(A) Sedimentary rocks
(B) Metamorphic rocks

(C) Igneous rocks
Options:
1.Only A

2.0nly B
3.AandB
4.AandC



Question Number : 50 Question Id : 43417823150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 43417823151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characteristics of minerals?

(A) They are created by natural processes without any human interface.

(B) They are evenly distributed over space and have a definite chemical composition

(C) They are inexhaustible

(D) Some minerals are found in areas which are not easily accessible



Select the correct answer using the code given below :
Options:

1.Aand Conly

2. A and D only

3.A,Band Conly

4. A, B and D only

Question Number : 51 Question Id : 43417823151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 43417823152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.



(A) When hot air rises, cold air from the surrounding area rushes there to fill in the gap
(B) Air set in motion due to difference in pressure at different places
(C) Hot air is denser and heavy

(D) Direction of wind is affected by the rotation of the earth.
Options:

1. (A), (B) and (C) are correct

2.(B), (C) and (D) are correct

3. (A), (C) and (D) are correct

4. (A), (B) and (D) are correct

Question Number : 52 Question Id : 43417823152 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 43417823153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which geographical phenomena occurs when jet streams trap hot ocean air like a lid and move it

towards land?

Options :

1. Precipitation
2. Evaporation
3. Heat dome

4. Cyclone

Question Number : 53 Question Id : 43417823153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 54 Question Id : 43417823154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The areas where a warm and cold current meet
(A) experience foggy weather making navigation difficult.
(B) provide the best fishing area in the world.

Select the correct answer using the code given below.
Options :

1. Both (A) & (B) are true

2. Both (A) & (B) are false

3. (A) is true but (B) is false

4. (A) is false but (B) is true

Question Number : 54 Question Id : 43417823154 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 43417823155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Minerals are a non-renewable resource

Reason (R) : The rate of formation is faster than the rate of consumption by humans of these

minerals

Choose the correct option

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) is true, but (R) is false

4. Both (A) and (R) are false.

Question Number : 55 Question Id : 43417823155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT (A) : @A TS FF FETET 2|
FWOT (R) : THEE ST T 2T F @Il 3 A7 67 & G 2

Options :

. (A) T (R) THT WET & 74T (R) WET S0 2 (A)
, (A) T (R) 31 WE1 €, T (R) W smeem = & A

, (A)WEE, 791 (R) T4 €

N (A) YT (R) BT T 2



Question Number : 56 Question Id : 43417823156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher who was teaching about migration in her class, used the following example: 'Sridevi who

belongs to a fishing community migrated to Chennai after the tsunami had devastated her village'

Identify the concept that she was discussing in her class.
Options :

1. Immigration

2. Emigration

3. Pull Factor of migration

4. Push Factor of migration

Question Number : 56 Question Id : 43417823156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T FAT mm%?&uqﬁwﬁm#ﬁrmwﬁmﬁm:@ﬁmﬁaﬁm%mﬁﬁ
a\'rq@'aﬁﬂiqmﬁ%ﬁ%sﬂﬂm Ezik

HI T e e o W T 1

Options:

4, AT % TS FE



Question Number : 57 Question Id : 43417823157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about organic farming.
(A) Manure is used for fertilising
(B) Genetic modification is done to increase productivity

(C) Natural pesticides are use.
Options :

1. Only (A) and (B) are correct
2. Only (B) and (C) are correct
3. Only (A) and (C) are correct

4. All (A), (B) and (C) are correct

Question Number : 57 Question Id : 43417823157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 43417823158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Preamble of the Indian constitution states that all Indians are equal in
Options :

1. income & employment

2. status & employment

3. income & opportunity

4. status & opportunity

Question Number : 58 Question Id : 43417823158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 43417823159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following paragraph and fill in the blanks:



Panchayat elections are held every years. Elected members of the Panchayat are called
. Most basic unit of the Panchayat Raj system is , Which is a meeting of all adults

who live in the area covered by a Panchayat.

Choose the correct sequence of the following.
Options :

1. Five, Panchs, Jansabha

2. Four, Sarpanch, Gram Panchayat

3. Five, Panchs, Gram Sabha

4. Four, Panch, Gram Sabha

Question Number : 59 Question Id : 43417823159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 43417823160 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is the most important aspect to strengthen then diversity in a social

science classroom?

Options :

1. Equality, Dignity, and Obedience
2. Discipline, Uniformity, and Trust
3. Access , Dignity, and Equality

4. Respect, Uniformity, and Obedience

Question Number : 60 Question Id : 43417823160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 43417823161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is the new state of India?

Options :



1. Jharkhand
2. Uttrakhand
3. Telangana

4, Mizoram

Question Number : 61 Question Id : 43417823161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 62 Question Id : 43417823162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following persons works in the primary sector?
Options:

1. Radha works in the tailoring unit of a garment factory

2. Sarita is the marketing manager of a fertiliser company
3. Harpreet operates a crane at a building site

4. Hamid taps rubber on a plantation

Question Number : 62 Question Id : 43417823162 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 43417823163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the main concern of livelihood in rural areas?
Options:

1. Creation of Hawking Zones

2. Long hours of work in cramped shop floors

3. Loss of sales because of malls offering bigger discounts

4. Seasonal nature of work

Question Number : 63 Question Id : 43417823163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 43417823164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Universal adult franchise means :

Options :

1. All adults are allowed to drive

2. All adults are freely allowed to express their views
3. All adults are allowed to make government

4. All adults are allowed to vote

Question Number : 64 Question Id : 43417823164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 43417823165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the meaning of the phrase 'setting the agenda' in the context of the media?
Options :

1. Preparation of the list of broadcast by media channels

2. Media channels prioritizing those programmes that have high Target Rating Points (TRP) for

(retelecast)
3. Media influencing people’s thoughts and perceptions in deciding what issues to focus on

4. Use of popular programmes for marketing purposes by media houses

Question Number : 65 Question Id : 43417823165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 43417823166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Indian Constitution ensures that government system does not involve only persons sitting in the
capital city and making decision for everyone. Therefore, these are difficult levels of government
which draw their authority from the Constitution’. Above description matches to which of the

following features of Indian Constitution?
Options :

1. Separating of powers

2. Federalism

3. Parliamentary forms of Government

4. Secularism

Question Number : 66 Question Id : 43417823166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 43417823167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bachchu Manjhi - a mason from Jharkhand has come to Delhi to find work. He has exercised which

of the following rights providing by the Indian Constitution?
Options :

1. Right to Freedom

2. Right to Equality

3. Cutural and Educational rights

4. Right to Constitutional Remedies

Question Number : 67 Question Id : 43417823167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 43417823168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In a criminal offence, who represents the interests of the state in the court?

Options :



1. Judge
2. Police
3. Public prosecutor

4. Defence Lawyer

Question Number : 68 Question Id : 43417823168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 43417823169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ghettoization is a result of marginalisation.
A. Social
B. Economic

C. Cultural

Options :



1.Only A
2.0nly B
3.0nly C

4. A, BandC

Question Number : 69 Question Id : 43417823169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 43417823170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The government has passed laws that make it mandatory for organisations that have more than

women employees to provide creche facilities.
Options :

1. thirty



2. fifty
3. eighty

4, ten

Question Number : 70 Question Id : 43417823170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 43417823171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements communicates an accurate understanding about the nature of

social sciences?

Options :

1. Tt incorporates facts and information which need to be rote memorised.’

2. 't is not based on scientific approach and contain biases in the presentation.’

3. It aims to build on beliefs, practices and opinions without critically questioning them.’

4. 'Tt develops an integrated understanding about society and critical citizenry.’



Question Number : 71 Question Id : 43417823171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 43417823172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following A & B
Statement A : Anthropogeography is part of the discipline of geography.

Statement B : Anthropogeography covers the evolution of humankind, its different races and

human adaption to environment

Choose the correct option
Options :

1. Both A and B are false
2. Ais false and B is true
3. Both A and B are true

4. Ais true but B is false



Question Number : 72 Question Id : 43417823172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 43417823173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is an aspect of epistemic shift in the teaching of social science

proposed by the National Curriculum Framework 2005?

Options :

1. From textbook as the only source of information to text book as one of the sources in
understanding issues.

2. From modern to post-modern perspective.

3. From developing critical citizens to obedient and loyal citizens.

4. From the 'British' account of the past to varied 'Indian’ accounts.



Question Number : 73 Question Id : 43417823173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 43417823174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Social science curricular material developed on the basis of which of the following may help the

social science teacher see interconnections between various aspects of society?
A. Disciplinary approach

B. Multidisciplinary approach

C. Interdisciplinary approach

D. Thematic approach
Options :

1. Only A and B are true



2.0nly B and C are true
3.0nly Cand D are true

4.0Only A and D are true

Question Number : 74 Question Id : 43417823174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 43417823175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following are valid ways to encourage comprehension of concepts over

retention of facts?

(A) Minimising the listing of information



(B) Asking Questions that encourage a child to think
(C) Avoiding definitions whenever possible

(D Providing tables of all facts
Options :

1.A,B,CandD

2.A,Band C

3.B,Cand D

4. A, Cand D

Question Number : 75 Question Id : 43417823175 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 43417823176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following teaching - learning strategy could be best employed at elementary level to

discuss the topic of 'social justice and marginalisation'?
(a) Role play

(b) Case - study

(c) Survey

(d) Globe and maps
Options:
1.A,Band C
2.A,Band D
3.B,Cand D

4.A,B,CandD

Question Number : 76 Question Id : 43417823176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 43417823177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are taking a class on 'Partition of India'. Which of the following can prove to be valuable

resources for a classroom discussions?

(@) Maps of India(1947-48)

(b) Reading from 'Train to Pakistan' by Khushwant Singh
(C) Photographs of Delhi-1948

(d) Songs sung by M . S. Subulaxmi
Options :

1.A,Band C

2.A,Band D

3.B,Cand D

4.A,B,CandD

Question Number : 77 Question Id : 43417823177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 43417823178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most relevant role for a social science teacher would be to provide opportunity for students to

develop:

Options:

1. self motivation to study on their own for exams.
2. become experts in the subject.

3. memory skills to recall events.

4, a critical understanding of the world around them.

Question Number : 78 Question Id : 43417823178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 43417823179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following activities in a history class have the most potential for promoting critical

thinking skills?

(A). Analysing choices

(B). Asking recall questions

(C). Differentiating facts from opinions
(D). Exploring impacts

(E). Reading textbook contents
Options :

1. (A), (B) and (C)

2.(A), (C)and (D)

3.(B), (C) and (D)



4. (C), (D) and (E)

Question Number : 79 Question Id : 43417823179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTH © -] AT, 3TeTe FT §, 56 % ivTel ol 5 o ot §ad #11ees TWTat 2m-
A T e

TR 4 T

FEAT < A F 9 FT

TS B T

TTA- T 1 (o] %1 713

[ O
e TaoFeq T =9 T

T2 = T

Options :

. A, BFAIC

, A, CTID

, B,CTAID

, C.DTATE

Question Number : 80 Question Id : 43417823180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following social science questions have the most potential for promoting critical

thinking?
A. In what ways do pressure groups and social movements exert influence on politics?

B. What is the difference between a pressure group and a political group?



C. Explain the following terms: (1) political parties; (2) pressure groups.
D. How many political parties can India have given its size of population? Why?

E. How is public interest litigation attempt to ensure justice for all in India?
Options :

1.A,Band C

2.B,Cand D

3.A,BandD

4. A,DandE

Question Number : 80 Question Id : 43417823180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 43417823181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true about using current affairs and events in social studies?
A. Using current affairs as integral part for social studies units.

B. Using current affairs in addition to social studies text book
Options :

1.0nly A

2.0nly B

3. Both A and B are true

4. Both A and B are false

Question Number : 81 Question Id : 43417823181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 43417823182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can be considered as major challenge in the teaching of social sciences at

the elementary level?

A. It is treated as a non-utilitarian subject

B. It creates a lot of debate and controversy

C. Teacher with one specialization is expected to teach many subjects

D. It requires considerable amount of statistical knowledge

E. Differently abled learners find it difficult to cope with the content

Choose the correct option
Options :

1.A,Band C

2.B,Cand D

3.C,DandE

4.A,BandE

Question Number : 82 Question Id : 43417823182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 43417823183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Social science textbooks at the upper primary stage have been developed with the objective of

Options :

1. providing detailed information

2. presenting majoritarian perspective

3. including a nationalistic representation

4, providing thematic presentation

Question Number : 83 Question Id : 43417823183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 43417823184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following primary sources can be referred to build an understanding of 'Dhamma'?
Options:

1. Ashokan inscriptions

2. Megathenes writings

3. Rampurwa bull sculpture

4. Iron Pillar

Question Number : 84 Question Id : 43417823184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 43417823185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the most appropriate option.

Project work mainly involves

Options :

1. collecting information from multiple resources
2. going out to gather data from people

3. memorizing important project related concepts

4. collecting mainly news clippings related to the topic

Question Number : 85 Question Id : 43417823185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 43417823186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the appropriate sequencing in the doing of a project?

A. Prepare a questionnaire/interview schedule related to the topic
B. Formulate a research question or problem

C. Develop an approach to answer the research question

D. Study the literature/materials to the topic
Options :

1.B,D,Aand B

2.D,B,Cand A

3.A,D,Band C

4.D,B,Aand C

Question Number : 86 Question Id : 43417823186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 43417823187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions assesses the conceptual knowledge of students?
A. What accounts for the anger of the tribals against the Dikus?
B. Distinguish between economic development and sustainable development.

C. Choose any tribal group living in India today. Write an essay about their customs and way of life,

and how their lives have changed in the last 50 years.

D. Find out more about Rani Lakshmibhai of Jhansi. In what ways would she have been an unusual

woman for her times?

E. Differentiate between subsistence farming and commercial farming.



Choose from the following options.
Options :

1.A,Band C

2.B,Cand D

3.BandE

4.DandE

Question Number : 87 Question Id : 43417823187 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 43417823188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following questions assess metacognitive knowledge?

A. Suppose you are expected to form a group of students to conduct a Sports day. Write a detailed

proposal for the school.

B. What was Birsa's vision of a golden age?

C. Develop a concept map on the topic - Rural Livelihoods after reading three journal articles on

the topic.

D. Find out from your parents, friends or teachers the names of some heroes of tribal revolts in

the twentieth century. Write their story in your own words.

E. There is reqular traffic jam in your locality due to which you keep getting late for school.

Describe the strategies that you will develop to address this issue.
Options :

1.A,B,Cand D

2.B,C_LDandE

3.ACDandE

4.A,B,DandE

Question Number : 88 Question Id : 43417823188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

_A,B,C#HRD

1
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Question Number : 89 Question Id : 43417823189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions assesses the 'evaluate' aspect of cognitive process?
A. List three schemes that aimed to improve the poor in India
B. Describe the processes involved in the implementation of MNREGA.

C. Samagra Shiksha Abhiyan helps in quality improvement of learning levels in India. Provide three

points in favour of this statement.



D. The process of industrialization in India since 1991 has led to pollution. Appraise the statement.
E. Government has the responsibility to ensure fundamental rights of its citizens. Justify.

Choose the correct option.
Options :

1.A,B,Cand D
2.A,C,DandE

3.B,Cand D

4.C,DandE

Question Number : 89 Question Id : 43417823189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 43417823190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following questions. Which of them assesses the ‘application’ aspect of the cognitive

process?

A.You are a peasant in Muhammad Tughluq's reign and you cannot pay the taxes demanded by

the Sultan . What will you do?

B. Why some rocks have a shape of a mushroom?

C. Suppose the time in Mumbai is 7.00 pm. What will be the time in London which is located close

to Greenwich in the United Kingdom?

D. Who are the parties involved in the tripartite struggle?

E. List steps you will follow to choose school pupil leader by following the principles of democracy.
Options :
1.Aand B
2.Aand D
3.Cand D

4. Cand E

Question Number : 90 Question Id : 43417823190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FmTertas 74 1 | 579 6 6 & AT T o ST e 7 ST 7 27

A AR gwm%anwmﬁ%Had.-'?um?ﬁmgﬁﬂmﬁwﬁwWﬂ?ﬁﬁml

AT T )

B. 3 Tl 1 ST T (RO 6 1 €1 4

C. T e 5 T 5 0 7 7 9 2 1 570 (T FTem) e 5 e o & 7 o
Em?

D. TN U U4, CTd T § A 4

E. 701 35 T 5 A 5 G 7 ST 3 1 30 1 7 3310 3 g, o

TR fa 1 =

Options :
1 A¥RB
, ASRD
3 CHARD
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Language I
Section Id : 434178745
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 4341781345

Question Shuffling Allowed : Yes

Question Id : 43417823191 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/ complete
the statements.

Every time someone asks me what level of corpus, they should
amass so that can retire, my answer is, “you will never be able to
retire”. This is because if he is seeking security in a number (an
amount of money) he will never get it. There is nothing in the nature
of the money that can give us security in life.

One of the founding fathers of America, Banjamin Franklin, had
very rightly said, “Money never made happy yet, nor will it. There is
nothing in its nature to produce happiness. The more a man has, the
more he wants. Instead of filling a vacuum, it makes one”.

In the above quote, instead of ‘happiness’ read ‘security’. While it is
true that we need money to meet our basic needs of food, clothing,
and shelter, once those are satisfied money will not be able to solve
any of our problems.

Recently, | came across the interesting case of Meenaben and
Purshottambhai. This couple had been living in the USA for over 40
years. They had two sons who were well settled and living
independently. Over the years, the couple had accumulated
substantial wealth. They had a palatial house, four cars, properties
in the USA as well as India and many other assets.

About five months ago, Meenaben had a severe paralysis attack.
She is bedridden now. But they do not have enough social support
in that country. Purshottambhai explained, “We always thought

money would give us everything. We thought that with money, we
would be able to purchase all services we may need to live happily.
Therefore, we did not pay attention to other aspects of life such as
social connections or service to the community. We thought money
would give us all.”

Sub questions



Question Number : 91 Question Id : 43417823192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “corpus” means

1) a dead body

2) amount of money spent

3) amount of money collected
4) a dead insect

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 43417823193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “amass” means
1) to collect

2) to spend

3) heavy

4) without weight

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417823194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, “We always thought money would give us
everything.” Which word does ‘always’ qualify?

1) we

2) thought

3) money

4) everything

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 43417823195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Benjamin Franklin says, ‘Money never made happy
yet, nor will it.” He means:

1) Money can buy happiness.

2) Money has not been able to buy happiness.

3) Money and Happiness have nothing to do with each
other.

4) Money and happiness are made for each other.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417823196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



From the sentence, “The more a man has, the more he
wants”, we can infer that man is essentially

1) kind.

2) unsatisfied with what he has.

3) satisfied with what he has.

4) charitable.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417823197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why does the author tell people they will never be able to
retire?

1) People are looking for security in wealth.

2) Things are always getting expensive.

3) People are unsatisfied.

4) Things are in short supply.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417823198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, “She is bedridden now. But they do not
have enough social support in that country.” The word ‘But’
is a

1) Noun

2) Preposition

3) Conjunction

4) Adverb

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417823199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What did Meenaben and Purshottambhai realise about
money?

1) Money would buy them happiness.

2) Money would give them all services.

3) Money would not give them everything.

4) Money would not give them happiness.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417823200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



From the passage, how do we know that Meenaben and
Purshottambhai were financially strong?

1) Their kids were settled in the US.

2) Meenaben was unwell due to a stroke.

3) They had a small house where they lived.

4) They had a palatial house and many properties in the

US and India.
Options :
1.1
2.2
3.3
4.4

Question Id : 43417823191 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the guestions/ complete
the statements.

Every time someone asks me what level of corpus, they should
amass so that can retire, my answer is, “you will never be able to
retire”. This is because if he is seeking security in a number (an
amount of money) he will never get it. There is nothing in the nature
of the money that can give us security in life.

One of the founding fathers of America, Banjamin Franklin, had
very rightly said, “Money never made happy yet, nor will it. There is
nothing in its nature to produce happiness. The more a man has, the
more he wants. Instead of filling a vacuum, it makes one”.

In the above quote, instead of ‘happiness’ read ‘security’. While it is
true that we need money to meet our basic needs of food, clothing,
and shelter, once those are satisfied money will not be able to solve
any of our problems.

Recently, | came across the interesting case of Meenaben and
Purshottambhai. This couple had been living in the USA for over 40
years. They had two sons who were well settled and living
independently. Over the years, the couple had accumulated
substantial wealth. They had a palatial house, four cars, properties
in the USA as well as India and many other assets.

About five months ago, Meenaben had a severe paralysis attack.
She is bedridden now. But they do not have enough social support

in that country. Purshottambhai explained, “We always thought

money would give us everything. We thought that with money, we
would be able to purchase all services we may need to live happily.
Therefore, we did not pay attention to other aspects of life such as
social connections or service to the community. We thought money
would give us all.”

Sub questions

Question Number : 91 Question Id : 43417823192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “corpus” means

1) a dead body

2) amount of money spent

3) amount of money collected
4) a dead insect



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 43417823193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “amass” means
1) to collect

2) to spend

3) heavy

4) without weight

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417823194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “We always thought money would give us
everything.” Which word does ‘always’ qualify?

1) we

2) thought

3) money

4) everything

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 43417823195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Benjamin Franklin says, ‘Money never made happy
yet, nor will it.” He means:

1) Money can buy happiness.

2) Money has not been able to buy happiness.

3) Money and Happiness have nothing to do with each
other.

4) Money and happiness are made for each other.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417823196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the sentence, “The more a man has, the more he
wants”, we can infer that man is essentially

1) kind.

2) unsatisfied with what he has.

3) satisfied with what he has.

4) charitable.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417823197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why does the author tell people they will never be able to
retire?

1) People are looking for security in wealth.

2) Things are always getting expensive.

3) People are unsatisfied.

4) Things are in short supply.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417823198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the sentence, “She is bedridden now. But they do not
have enough social support in that country.” The word ‘But’
is a

1) Noun

2) Preposition

3) Conjunction

4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417823199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What did Meenaben and Purshottambhai realise about
money’?

1) Money would buy them happiness.

2) Money would give them all services.

3) Money would not give them everything.

4) Money would not give them happiness.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417823200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the passage, how do we know that Meenaben and
Purshottambhai were financially strong?
1) Their kids were settled in the US.
2) Meenaben was unwell due to a stroke.
3) They had a small house where they lived.
4) They had a palatial house and many properties in the
US and India.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 4341781346

Question Shuffling Allowed : Yes

Question Id : 43417823201 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the extract given below and answer the guestions that follow by
choosing the best options:

What is this life if, full of care,

We have no time to stand and stare.
No time to stand beneath and boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty’s glance,
And watch her feet, how they can dance.

Sub questions

Question Number : 100 Question Id : 43417823202 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In this poem, the poet makes use of to
portray the beauty of nature.

1) hyperbole

2) imagery

3) oxymoron

4) irony

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417823203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poem highlights
1) the importance of leisure in one’s life
2) how man is enjoying nature.
3) the importance of happiness in life.
4) how man is very satisfied.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417823204 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
a) Man today is very worried.
b) Sheep and cows can give him relief.

1) (a)is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417823205 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct statement.
1) The poet can see stars even during day time.
2) The sheep and cows are moving around the streams.
3) When they see the poet, the squirrels hide their
nuts.
4) The modern man has no time to spend in the lap of
nature.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417823206 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘And watch her feet, how they can dance’. The figure of
speech used in this line is-

1) Simile

2) Metaphor

3) Personification

4) Hyperbole

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417823207 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the lines “No time to see, when woods we pass, where
squirrels hide their nuts in grass”. The poet wants to
describe:

1) man'’s inability to feel happiness in his heart.

2) man’s inability to enjoy the simple things in life.

3) man’s inability to be happy.

4} man’s ability to enjoy pleasures.

Options:
1.1
2.2
3.3
4.4

Question Id : 43417823201 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the extract given below and answer the gquestions that follow by
choosing the best options:

What is this life if, full of care,

We have no time to stand and stare.
No time to stand beneath and boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty’s glance,
And watch her feet, how they can dance.

Sub questions

Question Number : 100 Question Id : 43417823202 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In this poem, the poet makes use of to
portray the beauty of nature.

1) hyperbole

2) imagery

3) oxymoron

4) irony

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417823203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem highlights
1) the importance of leisure in one’s life
2) how man is enjoying nature.
3) the importance of happiness in life.
4) how man is very satisfied.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417823204 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
a) Man today is very worried.
b) Sheep and cows can give him relief.

1) (a)is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417823205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1) The poet can see stars even during day time.
2) The sheep and cows are moving around the streams.
3) When they see the poet, the squirrels hide their
nuts.
4) The modern man has no time to spend in the lap of
nature.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417823206 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘And watch her feet, how they can dance’. The figure of
speech used in this line is-

1) Simile

2) Metaphor

3) Personification

4) Hyperbole

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417823207 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the lines “No time to see, when woods we pass, where
squirrels hide their nuts in grass”. The poet wants to
describe:

1) man’s inability to feel happiness in his heart.

2) man’s inability to enjoy the simple things in life.

3) man’s inability to be happy.

4} man’s ability to enjoy pleasures.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 4341781347

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 43417823208 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mother tongue based multilingualism advocates that
1) all children begin schooling in their mother tongue or home language.
2) all children begin schooling in the language of the state.
3) all children begin schooling in English medium and in home language.
4) all children study Hindi as their first language.

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 43417823208 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism advocates that
1) all children begin schooling in their mother tongue or home language.
2) all children begin schooling in the language of the state.
3) all children begin schooling in English medium and in home language.
4) all children study Hindi as their first language.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417823209 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahul s a driver who moves from Bihar to Kerala where he picks up the Malayalam language within six month. Now he
speaks Malayalam very well. What is this known as?

1) Language learning

2) Language acquaintance

3) Language acquisition

4) Language programming

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417823209 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahul s a driver who moves from Bihar to Kerala where he picks up the Malayalam language within six month. Now he
speaks Malayalam very well. What is this known as?

1) Language learning

2) Language acquaintance

3) Language acquisition

4) Language programming

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 43417823210 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner while listening to a lecture attempts to gather the overall idea of the lecture and does not give much
importance to all the individual words. What strategy does she adopt for listening?

1) Bottom up processing

2) Top-down processing

3) Discriminating between key words

4) Recognizing coherence

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 43417823210 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner while listening to a lecture attempts to gather the overall idea of the lecture and does not give much
importance to all the individual words. What strategy does she adopt for listening?

1) Bottom up processing

2) Top-down processing

3) Discriminating between key words

4] Recognizing coherence

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417823211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher provides learners of class VIl a text from a newspaper which she considers slightly above their language
level. Learners have to work with the text to do many tasks. What is this known as?

1) Comprehensible inputs

2) Incomprehensible inputs

3) Reading comprehension

4) Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417823211 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher provides learners of class VIl a text from a newspaper which she considers slightly above their language
level. Learners have to work with the text to do many tasks. What is this known as?

1) Comprehensible inputs

2) Incomprehensible inputs

3) Reading comprehension

4) Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417823212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching-learning believes ‘Language is a habit’?
1) Communicative Language Teaching
2) Audiolingualism
3) Natural Approach
4) Cooperative Language Learning

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417823212 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching-learning believes ‘Language is a habit’?
1) Communicative Language Teaching
2) Audiolingualism
3) Natural Approach
4) Cooperative Language Learning

Options :



1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417823213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are true of ‘scaffolding hypothesis”?
1) Learner can learn individually with the inputs of texts, their previous knowledge, their competence and writing.
2) Intermixing of themes and interactions.
3) Learners can reach levels of achievements (with other’s support) which they would be unable to reach
independently.
4) Each learner is independent and need to learn individually.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417823213 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are true of ‘scaffolding hypothesis”?
1) Learner can learn individually with the inputs of texts, their previous knowledge, their competence and writing.
2) Intermixing of themes and interactions.
3) Learners can reach levels of achievements (with other’s support) which they would be unable to reach
independently.
4) Each learner is independent and need to learn individually.

Options :
1.1
2.2
3.3
4.4



Question Number : 112 Question Id : 43417823214 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Foundational stage of schooling as per the National Education Policy (NEP) 2020 consists of
1) 3years of pre-school and classes I and II.
2) 3years of pre-school and classes |, I, 1Il, IV and V.
3) 5years of primary school.
4) 3years of pre-school

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 43417823214 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Foundational stage of schooling as per the National Education Policy (NEP) 2020 consists of
1) 3years of pre-school and classes | and II.
2) 3years of pre-school and classes |, II, 1Il, IV and V.
3) 5years of primary school.
4) 3years of pre-school

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417823215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Semantic cues’ in reading are prompts
1) that helps in decoding the word.
2) for the correct pronunciation of the word.
3) that supports the meaning-making process.
4) for identifying the grammatical form.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417823215 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Semantic cues’ in reading are prompts
1) that helps in decoding the word.
2) for the correct pronunciation of the word.
3) that supports the meaning-making process.
4) for identifying the grammatical form.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 43417823216 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravish is reading an interesting article in a newspaper. He wants to get the over all ideas of the writer. What does he do
in his reading?

1) Scanning

2) Skimming

3) Reading to find specific details

4) Reading to write a report

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 43417823216 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravish is reading an interesting article in a newspaper. He wants to get the over all ideas of the writer. What does he do
in his reading?

1) Scanning

2) Skimming

3) Reading to find specific details

4) Reading to write a report

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 43417823217 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?
1) Words are mostly spelt correct.
2) Words read between the lines.
3) Words that we use in writing and speaking.
4) Words that we recognise when we hear or see.

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 43417823217 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?
1) Words are mostly spelt correct.
2) Words read between the lines.
3) Words that we use in writing and speaking.
4) Words that we recognise when we hear or see.

Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417823218 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct about speaking?
1) Speaking means pronouncing the words correctly.
2) It involves responding to questions and making enguiries.
3) Speaking means participating in conversations and discussions.
4) It's the ability to speak fluently and coherently.

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417823218 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT correct about speaking?
1) Speaking means pronouncing the words correctly.
2) It involves responding to questions and making enguiries.
3) Speaking means participating in conversations and discussions.
4) It's the ability to speak fluently and coherently.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417823219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Knowledge about the form, describing and apply it in limited practice’ is known as
1) Teacher's grammar
2) Declarative knowledge
3) Language form
4) Procedural knowledge

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417823219 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Knowledge about the form, describing and apply it in limited practice’ is known as
1) Teacher’s grammar
2) Declarative knowledge
3) Language form
4) Procedural knowledge

Options :

1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 43417823220 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A newspaper article which makes a case for no examinations for students up to class VIII, What is this writing known
as?

1) Narrative writing

2) Comparative writing

3) Persuasive writing

4) Creative writing

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 43417823220 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A newspaper article which makes a case for no examinations for students up to class VIII, What is this writing known
as?

1) Narrative writing

2) Comparative writing

3) Persuasive writing

4) Creative writing

Options :
1.1
2.2
3.3
4.4



Question Number : 119 Question Id : 43417823221 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true of study of literary texts in language classroom?
1) Literary texts are for appreciation and enjoyment.
2) Literary texts are cultural inputs for language learning.
3) Literary texts develop critical thinking and reflection.
4) Literary texts should be used to teach grammar.

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 43417823221 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true of study of literary texts in language classroom?
1) Literary texts are for appreciation and enjoyment.
2) Literary texts are cultural inputs for language learning.
3) Literary texts develop critical thinking and reflection.
4) Literary texts should be used to teach grammar.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417823222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner finds problem in recognising the letters and decoding words? What is this deficiency?
1) Dyslexia
2) Dysgraphia
3) Dysphonia
4) Speaking disability

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417823222 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner finds problem in recognising the letters and decoding words? What is this deficiency?
1) Dyslexia
2) Dysgraphia
3) Dysphonia
4) Speaking disability

Options :
1.1
2.2
3.3
4.4
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Correct Marks : 1 Wrong Marks : 0
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4. 9 T V111 TR SIGHTST ST 5 A WIS 3707 o6 e % w0 A

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 43417823240 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e famer it 2020 ST AT 2-

. ST X T HITHTST 2101 3 F1e79 o &9 F

0. Tereert Tore % TR 97 | FeT X 79 SIS o e e F '
3. TSTSIOT T HTERT T AYT SATHTEH  FGF § T AR

4. %9 9 9 T V11 T SIS ST T 2 97T {30 % w1 % w0 5

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 43417823241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST Hr@AT

. Tamameff 3 g S v E 2
. Tmeameff o g e T B

3. gE UF H@f&m FIE

4. Tarersh = 3 T AW

Options :

i

[

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 43417823241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HTET T RgAT

1. Toremeft = 3T T o AE
2. Toreeft = g w= AT T B

3. I UF MFH T &

4. To1ereR & R0 TE T

Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 43417823242 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freferias o 3 S17-9 20 it TG (S72H-379) STehiTer e 22
|. @ Taaor = v

2. TaRur Bl

3
Options :
1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 43417823242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
frefeafid & 3 S17-9T o0 1 STTET (S72H-370) ST T2 22
|, @ foawor At ves
o o
3. W fom e wreat wt Fa

[

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 43417823243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt o T et el e o6 TreTen v 2, w0 e €
| e TS T

2,797 AFeTy

3 TR T A

4 3T T v

Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 43417823243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
| TE 7O FraT

2 79T AT

3 TR T A

4 TR TS ST

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 43417823244 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T U3 — U 7 3 -8 SUFTH T3t ST T3, STeet STTeRTe) et 37 AT, e 2 31 W o 2.
| SHiTE T

). TTTAR

3, IO T (e

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 43417823244 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS G2 — T3 1 1.9 ST, T3 STl JTeet AT 36 7 STTavereh 7l 2 1 W e 2-
| SHiTE T

). ST

3. TTOITeH: T e

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 43417823245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Trafefad 3 & F9-9T AR aeh W9 3 Tare § 7e 27
|, EieRices 9TST 3T SIS T8 BT &
HHTersh “TST 2T AT 2

3. Hishtas W wdi ferardaT e o E

b 5y ™
4 e UF Wi AT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 43417823245 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fAfefed o © F1H-51 |ihae WT9T 3 Hae § Te7 27
I.  Wihfca WIS 3T SATEHTT FE1 B1T 2

2. WihIe WTHT T HTHTE

3. Wi sTar E et v
4  Fae U FiRaE T E
Options:

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 43417823246 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freferitas = & %17 |1 T frem AT (NEP) 2020 ZRT 7afes 76 27
|. STTET HTST 3T SeRieUeh HINT 3 B9 T 37599

. Taresft vraT =1 Sepfeuer U % BY o1

3. ﬁ*awagm‘r = muﬁmug\w_-ﬂ

4. Tommer fore & ot =21 O foreqor qres o &9 T 2=t

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 43417823246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frefertas = & %17 |1 T frem AT (NEP) 2020 ZRT S77ated 76 27

. ITTETT HTST 3T Soh(eUss HINT 3 B9 H 37599

. Taesft vreT 1 SeFfeer TN & ¥ o1

3. TraTeT H3 1 S B F A6 FA

4. Torarert fover = |t =21 OT farequr Ares o ®Y F SIS

Options :

—

I3

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 43417823247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ST T o T 0 VT 1 ST 01 Ut 35 9 e 3 o7 et £ 990 978 9 &
A0 H 1 2, T o S 2 U W . T o oAU et ) 92 ol il & o A A R )
|9 - S F

) 3T AT 1 30

3 T e

4.0 e

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 43417823247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR 0T U3 T 5 0 FTETa 381 ST STl Ut o 7% ¥ 3 o7 e 2 79 9% o
A Y T E, T 3 (0 A £ A O F AR % o oA 2| 9 o S e A W A 8
Keis Btk

) AT R 1 A1

3 TP e e

4 T 34

Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 43417823248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e 2 o foer o o e Frone (e ) 0 20 ) 7% o7 o 6 ey e ST A 2
AR AT

| YEEA

T

3. W S B UG R

4, T E

Options :

| ]

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 43417823248 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 2t ar i o o e e (feeren e e 8 2 7 o o o e o ST A B
T ARG AT )

). TR AT

3. ¥ R o

4, yma e

Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 43417823249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



-8 430 T R O AT ) S Tt 1 T, S T, B 3] 7
T —

| S (e — 0 ) 57

). T fom o

3,979 % o o

4 T (0 3T ) 7 T

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 43417823249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

& [ o ¥ i 3 [ 5
.1 970 TR e O amﬁr%”g@r EEIMEIR: I ST ST, TRIET T 4T /I

T -

|, ST (3128 - T ) 78 T
2, faam & fow o
399 % fom orm

4% (0 3T ) 9

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 43417823250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SEUTETERT STeaTae T 22

BeRICAEC A ﬂ-ﬂ% I E= LRI EC A

2 F 978 TS W B9 79 99 39 & 519 =29 Ufhal § oI S &
3TV E S e T aee T M A

4.3 3188 A ufdm%ﬁdulmg

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 43417823250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SIS TTeaTaeT 34T 27

|y SR g e M S e ©

2 3 vTeg IS W 29 99 =919 & £ 99 2 UThal | T A §
3. F 3T6% 2 T B8 forg=-aree § Tam A ©

AT IR T ufdm%ﬁdulmg

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 43417823251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T2 ST T 126 IS ST T 47 2 ST 6 TTe 1 11 2, ST St 2
| STTYUITeH

2 78T FaHT 3T

3. ST9TT ST

4 T T
Options:

1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 43417823251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TE 19 FIHT T3 2 TSR0 =T 99T 2 S 3 ST ST 2, S S
| ST

D 78T FEE §9

3. TS STa

4 T T

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 43417823252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



=T % o v surs ¥ T | S et 8
| TS0, HHE HU, TUET, Hﬂ\‘-hﬂ%"’f, \‘H:-qu:;t?! YT 24T wrEy o
2 T, AT He, T S, 5% A 7o sifas ey o

3 AT HY S0, I, W@%}i__‘\?ﬁ%‘ﬁ*&? AT =T ferE
4.%@@%@?@?%%@%@,%&%% =@ (fe)
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 43417823252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=G % ToT0 9TERaT SUTT B i § Q9T S ierd 27

| SISO, T HU, T, THTST, TR 797 $H(ad e o
2 T, HE U, TR SR, T T 79t siftm o o
3 AT S E T ST, TG, TR a4t Sfs Ty o

4 ferget =it Tt T2 T T fore T, T quT we (fere)

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 43417823253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FETeEs 778 T2 #7@ F 0 T & ST T )

S T o e 5 W () 2 e o o 2 oA o o o e e o 0 o i
) e e Fa

3 TR #GA T

4uﬁ¢ﬂéﬁdé@d$ﬁ

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 43417823253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FETeEs 778 T2 #7@ F 0 T & ST T )

S T o e 5 W () 2 e o o 2 oA o o o e e o 0 o i
) e e Fa

3 TR #GA T

4,1.1,#-@@@%(&::1 GeEkeo

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 43417823254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. Torerer T foreqeft & wE=T Fr SRETEATE
2. 7= Tareres 79 Taeme WRTE%‘IHT?
3. TF WA IS F AUFR ST R

4. 7= foremeff s Teca TR e B

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 43417823254 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=
] L]

T ST 2 TTeReT 4T UTH R T AT AT 27
1. Toreqer e fevamef & =mE=T H F@ET AT 2

2. T Toreter a9 faere= 1 g YR geET 2

3. T UHHT SIS F SAUHE BT 2

4. 7= e A Ee S AT 2

Options :
1.1
2.2
3.3
4.4



